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QUESTION 1

Mike\\'s company has deployed three IBM Notes Traveler servers in a virtual high availability environment. Server A has
2500 devices registered and Servers B and C have 2000 devices registered. Mike, the administrator, took Server A
offline for Sunday\\'s scheduled maintenance session. He tested failover to the other servers in the pool and it was
successful. The following Monday morning, the Help Desk received calls reporting that users were not receiving mail on
their devices. Mike was unsure as to why the users gradually stopped receiving mail on the remaining servers. Mike
brought Server A back online and the problem was resolved. 

Why did the users fail to continue to receive mail? 

A. Mike had not set the external server URL on Servers B and C. 

B. Mike did not set the IP sprayer to spray in a round-robin fashion. 

C. Mike failed over too many users and devices to the other servers in the pool. 

D. Mike did not properly add Servers B and C to the pool by issuing the travelerUtil command. 

Correct Answer: C 

 

 

QUESTION 2

Which option describes how a load balancer is used for an IBM Notes Traveler High Availability (HA) implementation? 

A. secures connections between Notes Traveler servers and IBM Domino mail servers 

B. spreads the user to server connections across multiple Notes Traveler HA Pool members 

C. balances mail server traffic between Notes Traveler servers and clustered Domino mail servers 

D. spreads large amounts of data across multiple Notes Traveler servers when users are synchronizing a large
attachment to a device 

Correct Answer: B 

 

QUESTION 3

Luis has given Android devices to his team only to find that password monitoring is not working. 

Which reason could be behind this problem? 

A. Devices are running Android 1.x. 

B. He must also deploy IBM Traveler Companion. 

C. Password monitoring is only supported on iOS. 

D. Password monitoring is supported only when running against an IBM DB2 server. 
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Correct Answer: A 

 

 

QUESTION 4

What does IBM Notes Traveler 9.0 require in High Availability mode? 

A. SIP Proxy 

B. IP Sprayer 

C. IBM Connect 

D. triple-homed firewall 

Correct Answer: B 

 

QUESTION 5

What does the NTSUsage log show? 

A. the number of users are logged onto the server 

B. the number of devices are logged onto the server 

C. documents that are transferred between the devices and IBM Notes Traveler 

D. IBM Notes Traveler communication between Notes Traveler and the mail server 

Correct Answer: D 
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